B Z k th K % X 7 Wi 28 4
QD = % Eﬁ;y}uni%q{ 1 ?ﬁﬂ/'% )j?( Zb 3 %

m omi

L (@) Ko it "—y+2";+y 3x 5 - (10%)
(b) L1 B85 AR A2 SRS 0 <x <1 A [LBAHEAITS (0 =1
8L y()=2 » MR 2 (10%)
2. (a) FITBKHE X° + ) + 2% = a® 2 ik - (10%)
(b) FIRERME X + )" + 2% = U AEIENM X2+ )2 =57 » 22> 0.2 Eifill - It
b <a - (15%)

3. (@) 58§ -['(z‘r4)dz,whereC is x=20, y=dt-1, —1<1<1  (10%)

(b) FH j2~+—3“—2’1 l{=2 - (10%)

4. FH x RETHI

x=a,+ Z{(l, cos(ix) + b,sin(ix)}, ~z<x<nz, QR a,, a Eil IR EVE)

i=|
{2 (15%)

5. WRIRAS) SRR @—%, 0<x<l, >0, u(0,r)=u(l)=0,

u(x,0)=10 * (20%)




